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We can appreciate that there is little particular connection of the current Gregorian calendar and
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the 12 astrological zodiacal signs. I know the astrologers will not accept this change quietly but
S Che :tly bu

hey. we all have to adapt to change, right?
We as humans need to move out of the superstitious magic/mythic age and choose 4 more
rational structure with which to follow the solar cycle and lunar cy

both.

cle because we’re affected by

Every four years we would add one day to make up for the four quarter days which would be
missing. This day would be added to the last day of the 10th month of “The Thaw’ to herald the
the arrival of *‘Budding’. It would be a holiday to coincide with the first day of the Budding

which is the spring solstice.

Base 10 Calendar- month names

The first month will begin on the spring vernal equinox, on the full moon in Aries.
It will be called ‘Budding’ (Eclosion)
The second month will begin 36 days later,
and be called ‘Planting’. (Semence) (37 days)
The third month would correspond with the warmest period of the year
and be called ‘Growing’. (Croissance) (36 days)
The fourth month would be called ‘Ripening’. (Maturare) (Italian origin) (37 days)
The fifth month would be called ‘Harvest’ (Récolte) (36 days)
to correspond with the time to collect crops .
The sixth month would be called ‘Autumn’ (Autonme)(37 days)
to correspond with the autumnal equinox.
The seventh month would be called ‘Transition’ (Transition) (36 days)
to honour the slowing down of nature getting ready for winter.
The eight month would be called ‘Big Chill’ (Gros Froid) (37 days)
to honour the covering of Mother Nature with snow.
The ninth month would be called ‘The Deep Freeze’ (Hibernation) (36 days)
to honour the deepening of Nature’s rejuvenating sleep.
The tenth month would be called ‘The Thaw’ (Fonte) (37 days)
to herald the arrival of ‘Budding’. (Eclosion) (Total 365 days)



